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General Instructions :

(i)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

(viii)

(ix)

31/1/1

The question paper comprises two Sections, A and B. You are

to attempt both the sections.
All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to

be attempted separately.

Question numbers 1 to 3 in Section A are one mark questions.

These are to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two marks questions.

These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three marks
questions. These are to be answered in about 50 words

each.

Question numbers 19 to 24 in Section A are five marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in section B are two-marks

questions based on practical skills. These are to be answered

in brief.
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T -A
Section-A

1. Tm=fafed 3@ @ g o1 e gasde 2 fafau :
(i) C,H,
(i) C,H
Write the next homologue of each of the following :
(i) C,H,

(i) C,H,

2. SHRIGAH o 38 R &1 M (R S8l e Y64 o e hich
foenfaa gt 2 |
Name the part of Bryophyllum where the buds are produced for

vegetative propagation.

3. @I Tehicieh AT shi et ST |

List two natural ecosystems.

4. 37 3 feufaa = Iooim hifSe ST fordt fomal ot T W 31 gdon
S 3o Iafid Sfdfors s € | 38 YRR &4 Widfewsi o N 4 &

ST o Ft ST |

State two positions in which a concave mirror produces a
magnified image of a given object. List two differences between

the two images.
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5. Torelt 3fua YR @ EEIfcld STA-9WR TeEE % IR AT sl g

ERIE 2

List four advantages of properly managed watershed management.

6. Tt w8 yemwr Y Iewr wfea =awen hifse e o a@ &
ik TedT 8 99 hl Jel-8 HeATcaTeeh o1 | 2

Explain giving example where active involvement of local people

lead to efficient management of forest.

7. wEudSt A w1 g7 A A AR @ " w® B g7 Sk o
Torery T[oTt <t = ST | 3

What are covalent compounds? Why are they different from ionic

compounds? List their three characteristic properties.

8. & WA Wig H SO, ! 3ufexrfd o woige 37rel W HAIsHaT el 2,
a1 93 T4 Ik UaTY I el @ | A fu ey o 3w AN 3

(i) =g 7Y a1t A Afirek @ Afrepi & a1 § 7d 2, gt 99 fafaw |
srfurfsran =1 TR THieur 3R S99 9T IcTe o1 A fdfgu |

(i) 3@ Afsiishan o |15 H,SO,, *hl YfHehT 1 Ieeid shifsry |
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When ethanol reacts with ethanoic acid in the presence of conc.

H,SO,, a substance with fruity smell is produced. Answer the

following :

(1) State the class of compounds to which the fruity smelling
compounds belong. Write the chemical equation for the reaction

and write the chemical name of the product formed.

(i) State the role of conc. H,SO, in this reaction.

9. hfcoaw g acd 2 feht vy e 20 ® | i fou e sy

T Gfed I <ifeie -
(i) ohfclm 91g 8 31e@T 319Tg ?

(i) THeh! TTATY] oo uRfyem (W] T = 19) § &9 Bl SAeE
fereh ?

(iii) 39 TTRTES I TF faifaw |

Calcium is an element with atomic number 20. Stating reason
answer each of the following questions :

(1) Is calcium a metal or non-metal?

(i1) Will its atomic radius be larger or smaller than that of potassium

with atomic number 19 ?

(111) Write the formula of its oxide.

31/1/1 6
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10. 15 I ‘M’ fSae saaeq fo=ma (2, 8, 2) ®, 9us €9 U Hoihi
(NO,)",(SO,)*” @1 (PO,)>" % |IY WANT LAl & | 38 TR & ol
Afreni o g fafaw | aa ‘M’ smggfae Tmed |net o fohd ag o7
Ed | oA ®7 M’ HEgdst AR ST SIeEl SR A
ST 7 379 3T <hl T dfed gfE it | 3

An element ‘M’ with electronic configuration (2, 8, 2) combines
separately with (NO,)",(SO 4)2_ and (PO 4)3_ radicals. Write the

formula of the three compounds so formed. To which group and
period of the Modern Periodic Table does the elements ‘M’
belong? Will ‘M’ form covalent or ionic compounds? Give reason

to justify your answer.

11. Sia =R Afeh S99 SR S L SAYET AT S §RT S e, 3|
it X diet g Wifeal ao Faradi § Ul sl Tt ford TR o =+

&l ® ? 3UYh ISTEAVT ohl FRIIAT | SATEAT hifwT | 3

How do organisms, whether reproduced asexually or sexually
maintain a constant chromosome number through several

generations? Explain with the help of suitable example.
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12. = 3@ T ¢ TC 9EN A, B 3R C & T 3T IAF 1 Th-Ueh
fofiay |

Name the parts A, B and C shown in the following diagram and

state one function of each.

[Py
)

C

13. AHa SHEE @ FEta @, s fh 3w & @ o vgfg & fau
AEwE B, il HE b T Oy ol game ) y@w fafa % qm

forgra o1 Iooig iU |

Suggest three contraceptive methods to control the size of human

population which is essential for the health and prosperity of a

country. State the basic principle involved in each.

31/1/1 8
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14. T & Nl o A1y U T Hed & TH TN § IR I &7 TR T
ST HeX o Y€ W U1e T I[E S 9T ok T HeROT AT T, al
Htd ol weett HiEl, F, H shae ol 1e giem=R 8 & | 3

(a) 38 TROT § S Il o SI&T0T1 shl 1 BIaT & 7

(b) S F, gl o Tl o1 SORnTor g s R @t 3 I U
fopan fop wrafa <1 gadl Ni€l, F, © SH1 ciafoli- ol 0ie SR s 0ig
fomrs a0 8 | UE =i ger ? Hay # e Hifv |

In one of his experiments with pea plants Mendel observed that

when a pure tall pea plant is crossed with a pure dwarf pea plant, in

the first generation, F, only tall plants appear.

(a) What happens to the traits of the dwarf plants in this
case?

(b) When the F, generation plants were self-fertilised, he observed
that in the plants of second generation, F, both tall plants

and dwarf plants were present. Why it happened? Explain
briefly.

15. 3IUTfid @& 7R STgafRmes Aeon o s i faseenrtt ceon st g=ht
qTfcTehT o &9 H 15T | 3

List three distinguishing features, in tabular form, between

acquired traits and the inherited traits.

31/1/1 9 [P.T.O.


https://amzn.to/3OFHQkO

16. = fou 7o 3@ =i, oo 1ader /39 gUuT W hig Tehrer fohor AT
AT SMRA TR 7, AT I Yfecqeht W S | e TRt | 39 foRom
1 U1 § EdH o J¥=ITd 1 99 918y |

N T S
"

Draw the following diagram, in which a ray of light is incident on a
concave/convex mirror, on your answer sheet. Show the path of

this ray, after reflection, in each case.

N e S
"

17. A3 G ThiH T Idid BIdT & ¢ 1 ohig JaTeh $9 TREeAT ahl Jaqur
Fe5HT R off R TR ¢ 7 T Il R Aled g A |

Why does the sun appear reddish early in the morning? Will this
phenomenon be observed by an observer on the moon? Justify your

answer with a reason.

31/1/1 10
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18. fFr=fefaa it g & foe R fifewc:

(a) Tordlt oft Sa-mvea # STuseeht / STuATSIeR! ohi IUTEAfd STTawRIH © |

[aN aN

(b) et SATER T@eT T 11 -JaTe Ui BT 2 | 3

Give reason to justify the following :
(a) The existence of decomposers is essential in a biosphere.

(b) Flow of energy in a food chain is unidirectional.

19. (a) G TESIHIEHT TR AT BIESIRIEAT o sftg fIded i & foIg
IS T qhET forfau |
(b) T % a1 H &4 B W S aTel 3cdTat ok 19 foafae | 2 At
srfufsran 1 gamEfes giertr foftau ik famfea 2R o fafas
YR hl FHeliatl ohl S911SU |

(c) T = veprer I Iufedfer & B A FAG F | AiHAT A
wfcreermo stffsran s aFr ST ? 5

(a) Give a chemical test to distinguish between saturated and

unsaturated hydrocarbon.

(b) Name the products formed when ethane burns in air. Write the
balanced chemical equation for the reaction showing the types

of energies liberated.

(c) Why is reaction between methane and chlorine in the presence

of sunlight considered a substitution reaction?
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20. (a) | HET S O o 9 foU T Tedsh Wi o1 e T :
(i) eI
(i) HaAREE TS
(i) TaiE™

(b) =T Sl TLEAT 3 FE T AU HIfTT |

(a) Write the functions of the following parts in human female

reproductive system :
(1) Ovary
(i1)) Oviduct
(ii1)) Uterus

(b) Describe the structure and function of placenta.

21. S 3g9eH ¥ F1 dTeqd ® ¢ S 3g9e o 7T STERt IR hieht sht
Tt TR | 39 W N EOUna SRS o UQUl oh STd 39
T ek Tal & Tehdl ¢ 3104 I shi SR0T |fea gfE hifse |

What is meant by speciation? List four factors that could lead to
speciation. Which of these cannot be a major factor in the
speciation of a self-pollinating plant species. Give reason to justify

your anSwer.

31/1/1 12
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22. (a)

(b)

(c)

(a)

31/1/1

et gUui o Fewl 4§ = fau 7o vt it afam fafee -
i

(i) oRa1 5

(iil) =T 31

(iv) T HrRd

=t faw 77T Tl o J&T ®ishd F9IH o Toe, foror sTiE St :
(i) STadd U
(i) I U

Fro fou U sE W o AifSw | seE M S 990 991 P IS
forar 2, fSeRT gdur gy = Strarfeia wfaferar Q 2 |

YU M o TR o Il iy 3T fdfera Q =1 whig U falRTe
o1 fARaT | 5

Define the following terms in the context of spherical

MIITors :

(1) Pole

(1) Centre of curvature
(i11) Principal axis

(iv) Principal focus

13 [P.T.O.
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(b)

(©)

23. (a)

(b)

(©)

31/1/1

Draw ray diagrams to show the principal focus of a :
(i) Concave mirror

(i1)) Convex mirror

Consider the following diagram in which M is a mirror and
P is an object and Q is its magnified image formed by the

mirror.

State the type of the mirror M and one characteristic property of

the image Q.

3dd 9 g fdferes 591 ewnia o o 39 feurfa 8 gerren fereor
gifee fow =i fora oig o JeRTiRmeh s 3R 3doh J&T HIhd o
= fea g

SRR TR oR@ § 3fua o |fkd (s (+) FUE
R () 75 hdig g oRuel & gEr) foms gt (u) den
idfers gl (v) 3TfeRd shITSIT | Soci@ SIS ok 36 ToroT 1, A 3Rt
I G hl BIoRd g () A Ford TR Tafr § |

3G Y I AT JTa I, ST 79 TH1fTeh e & 20 cm g T
feora foreft forear a1 —1 sT1aela =1 arafess & 3o wftforst AT 2 |

14
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(a)

(b)

(c)

24. (a)

(b)

31/1/1

Draw a ray diagram to show the formation of image by a
convex lens when an object is placed in front of the lens

between its optical centre and principal focus.

In the above ray diagram mark the object-distance (z) and the
image-distance (v) with their proper signs (+ve or — ve as per
the new Cartesian sign convention) and state how these
distances are related to the focal length (f) of the convex lens in

this case.

Find the power of a convex lens which forms a real, and
inverted image of magnification —1 of an object placed at a

distance of 20 cm from its optical centre.

AL 93 o A1 U 7u gk W o1 o fafau
gaett, afaiiert, freeefi oia, vemsft e

TR & foermasiict 290 o Al Suith iHaT-37adr 4 difed 8 1 59

IR Bl e R AT i o6 Jeaor /e g/ dteh
foRaIT ST TohaT 2 | 379k 18T oh Tt JUTeRTdl THTST 4 37T TSI
T 3H) 929 & IR H SI&hd] 399 Hd & 323 9 Teh ITIH
RIS TR 7 | 9fe oad gm Sfed-asw § v 9 % foe ke

ST, A 319 36 qu il | foRd Jehi T o 7

(i) 39 TR o NI hl ST hid 1 323 fAfau |

(i) T o ITATT I A1 ol T L o T¢I d G0 119
ST ol T Teh a1l ¢ UM QI dohi ohl it 18T |

(iii) 3 & gt it g SA1EY, S 37 AfwA § fohfd & 9 €,
S 9 TR oh ST | W ekt Hishd TTeM &d © |

5
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(a)

(b)

Write the function of each of the following parts of human eye :

Cornea; iris; crystalline lens; ciliary muscles

Millions of people of the developing countries of world are
suffering from corneal blindness. These persons can be cured
by replacing the defective cornea with the cornea of a donated
eye. A charitable society of your city has organised a campaign
in your neighbourhood in order to create awareness about this
fact. If you are asked to participate in this mission how would

you contribute in this noble cause?
(1) State the objective of organising such campaigns.

(i1) List two arguments which you would give to motivate the

people to donate their eyes after death.

(i11) List two values which are developed in the persons who

actively participate and contribute in such programmes.

HT-d

Section-B

25. 9 fou TU wErel % foRE OYTe™ # IWM WEH sHH % folg

ATSATRCUT-3ATTRAT Rl St oh ToTq forer ST whaT & 7

(a)
(b)
(©)
(d)

31/1/1

Ca(OH), 3 " =1 at
NaOH 3R /% =1 aa
NaOH TR @< dd
Ca(OH), 3R @i+t at

16
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26.

Which of the following sets of materials can be used for conducting

a saponification reaction for the preparation of soap?
(a) Ca(OH), and neem oil
(b) NaOH and neem oil

(c) NaOH and mineral oil
(d) Ca(OH), and mineral oil

F1E BE 25 mL ¥TiEr it IR wEAeEt P, Q, R 3R S ot I3
@A H 10 mL ST S ¥Rl @ | 98 39 WAl H =R s daon
1 Ueh-Ueh T 39 JahR firedmar & — P ® KCl; Q § NaCl; R ® CaCl,

agr S H MgCl, | TeIv=ITd 98 Tcdeh TLEel H A1 o forera & F9d
TN 2 mL STl © | T T o q8TT Sl Hell-HIid f&e «

34 S qreHferl § I ST e il 9ereeT 7, F WEH e | -

(a) P3RQ (b) R3S
(c) P,Q3M R (d P,Q3M S

A student takes four test tubes marked P, Q, R and S of 25 mL
capacity and fill 10 mL of distilled water in each. He dissolves one
spoon full of four different salts in each as — KCI in P, NaCl in Q,
CaCl, in R and MgCl, in S. He then adds about 2 mL of a sample
of soap solution to each of the above test tubes. On shaking the
contents of each of the test tubes, he is likely to observe a good

amount of lather (foam) in the test tubes marked :

(@) Pand Q (b) RandS
(c) P,QandR (d P,QandS

31/1/1 17
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27. TR TR o fower # it & 18 fewaforat w forem i :

I = silfsraneti § o 3cue gt @
I 9 o g s@eyu & fofe aAfafsean fisor & wifeam aeimase
forctrn ST @

I |reHATeRTT 3R Ueh Ty serR shi SaTefi-ertor safsrfera ©
IV ST Tl @ o e TRl ohl & Tavl &

T4 T fewafom & -

() LTI

(b) ILIIFIV
(¢c) LUIIV
(d) FIALIMRIV

Consider the following comments about saponification reactions :
I Heat is evolved in these reactions

I For quick precipitation of soap sodium chloride is added to the

reaction mixture

IIT Saponification reactions are special kind of neutralisation

reactions
IV Soaps are basic salts of long chain fatty acids

The correct comments are :
(@) I, IIand III

(b) II, III and IV

(c) LLITand IV

(d) OnlyIandIV

31/1/1 18
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28. Torelt w1 ““forelt el <ffsT o o1 o fafsm vt <Y veem e
SRINT SRl EAT © | STl b <= 14U 710 Sgi # € 30w 99 g : 1
(a) W, =, T

(b) TSHT, Heehl, <1

(c) W, T, TSI

(d) USHI, HX, <1

A student has to perform the experiment “To identify the different
parts of an embryo of a dicot seed.” Select from the following an

appropriate group of seeds :

(a) pea, gram, wheat
(b) red kidney bean, maize, gram
(c) maize, wheat, red kidney bean

(d) red kidney bean, pea, gram

o

29. F=ffad 5 & &F aHsTTa 3 ol 9= § 7 1
(a) e, ueht 3R foushelt & 3mUTe
(b) FFeT & Tk R ATHITAAT & FHaeh
(c) THMEE & U@ R fadeht & 1@
(d) Ut & T TR TWES & Ug

Which of the following is a correct set of homologous

organs?

(a) Forelimbs of frog, bird and lizard

(b) Spine of cactus and thorn of bougainvillea
(c) Wings of bat and wings of butterfly

(d) Wings of a bird and wings of a bat

31/1/1 19 [P.T.O.
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30. Torelt B 3 JANRIET I BN o g TRAR W T Aive Sl Sare
T AIdd U AT o1 o1& Yidafersr foret o8 W, 3Et 9@ o
H HRd g I FH * fow, g foR | e wEew 3 39 B™
T HIRd gl o1 3R 3Tk TEl A ITed i oh foTT SRITSTET & e
1 km @ o fret wam o1 ®hid & &1 gema foam | 3 a3
T 3 TEY WA Dl BIRGA B b [T IWh! AT AT TAETANG
ECIRUIE
(a) TR TG Y
(b) TG I YT H K
(c) U ol gUUT ht AR
(d) U< ol 9ad i AR

A student obtained a sharp image of a candle flame placed at the

distant end of the laboratory table on a screen using a concave
mirror to determine its focal length. The teacher suggested him to
focus a distant building about 1 km far from the laboratory, for
getting more correct value of the focal length. In order to focus the
distant building on the same screen the student should slightly

move the :

(a) mirror away from the screen
(b) screen away from the mirror
(c) screen towards the mirror

(d) screen towards the building

31/1/1 20
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31. fou Tu 39« g it Afeehe ®eed @, Topdt g foma (S|, ®IE 9T

TIE) =l BIehHd ik, JTd A & o1 319 39 forear o1 Ufafons o€ w
TTod L T T hLd & | Ue 9T ST Sl e Hed & 8idT & -

(a) Hiar 3R uTvd uf@fda
(b) T R Bret

(c) 3 I BT
(d) TTEY, 3T 3R B

To determine the approximate focal length of the given convex lens

by focussing a distant object (say, a sign board), you try to focus

the image of the object on a screen. The image you obtain on the

screen is always :

(a) erect and laterally inverted

(b) erect and diminished

(c¢) inverted and diminished

(d) virtual, inverted and diminished

32. forell STRMAMRR & & wie § TSR Tl SheT fohtoT o1 99 STRRaa
A o foru, i < weft o6 Hf Trnfies saaten wam R 7

~

y

.

N

P
(a) P

(b) Q
(c) R
d S

31/1/1

Q

21
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Select from the following the best experimental set-up for tracing

the path of a ray of light passing through a rectangular glass slab :

LI

P Q R S
(a) P
(b) Q
() R
(d) S

33. = fou U e ot st FifSe forom foredt s 3 ST ior (L),
JAYGAT I (Lr), THIa 0T (Le), =0 @101 (LA) qn fo=mem s
(£D) Afeha foru 2 | S8 Tt Sifeha T 2 -

(a) ZAd Li
(b) ZA, Zid Lr
(c) ZA, Zi, Ze § £D

(d) ZA, Zi, Zr 9 /D

31/1/1 22
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34.

Study the following figure in which a student has marked the angle
of incidence (Zi), angle of refraction (£r), angle of emergence
(ZLe), angle of prism (£LA) and the angle of deviation (£D). The

correctly marked angles are :

(a) ZAand Zi

(b) ZA, Ziand Zr

(c) LA, Zi, Le and ZD
(d) LA, Zi, Zr and £D

3G THA T FT T HJ S AT THIH A H S g8 39

e § firerd € foad s g 2
() TraTeafem

(ii) ST S

(iii) AT gEw

(iv) Hifeam TESISH e 7ol

What do you observe when you drop a few drops of acetic acid to a

test tube containing :
(1) phenolphthalein
(11) distilled water
(i11) universal indicator

(iv) sodium hydrogen carbonate powder

31/1/1 23 [P.T.O.
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3S.

36.

FieT o feaved o 39 foRiy =Rur o1 THifeRd 3 Wifte fSaw 39eht
heseh dreffohd B STTAT © 3T 3T HITIThT foreett A HehiviT gfemier gia
2

Draw a labelled diagram to show that particular stage of binary

fission in amoeba in which its nucleus elongates and divide into

two and a constriction appears in its cell membrane.

HIs B fopdl weftaifa e gy forma & wfdafersr &l 39 o g
foret Ug WX Bk frd T | deuvaTd a8 fR-ofR forer =l ofm it SR A

ST 2, 3 B R 98 @9 hl AN ek fora & Ifdfors ol 7€ ®
HIeh b LT 2 |

(i) a8 <" = form foem o Tamaia st 8- Ue sl I AYan ue 9
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A student focuses the image of a well illuminated distant object on

a screen using a convex lens. After that he gradually moves the
object towards the lens and each time focuses its image on the

screen by adjusting the lens.

(1) In which direction-towards the screen or away from the screen,
does he move the lens?
(i) What happens to the size of the image-does it decrease or

increase?

(i11) What happens to the image on the screen when he moves the

object very close to the lens?
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